C:# Division von ganzen Zahlen

Name:
L 6se jede Aufgabe. Antworten
1) 3615= 2) 126:7=
- - 1
2.
3
3 168:6 = 4) 32:3= 4.
5.
6.
7.
5 25:2= 6) 37:5=
8.
9.
10.
7) 58:2= 8 575:9=
- 11.
12.
9 35:2= 10) 792:2 =
11) 935:8= 12) 70:2=
1-10 | 9283 75|67 [58[50] 4233|2517 |
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ﬂh Division von ganzen Zahlen

Name: L Osungsschlissel
L 6se jede Aufgabe. Antworten
1) ‘5= 2) 7 =
361:5 72rl 126:7 18 . 211
2 18
3. 28
3 168:6=_ 28 4 32.3= 1012 a 10r2
5. 12r1
6. 7r2
7 29
5 252= 12r1 6) 37.5= 7r2
8. 63r8
0. 17r1
10. 396
7 D = 8 ‘Q =
) 58:2 29 ) 575:9 638 " 11617
12, 35
9 35:2= 17r1 10) 792:2= 396
11) 935:8= 11617 129) 70.2= 35
1-10 [ 9283|7567 |58]|50] 42]33]25] 17|
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